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29 ________________



= 5 cupcakes

Q.2 Use the information from the pictogram to complete the bar chart.

_______________



Q.3 Use the information from the bar and tally chart to answer these questions.
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11 ________________

14 ________________

29 ________________



= 5 cupcakes

Q.2 Use the information from the pictogram to complete the bar chart.

23 x 5 = 115
(20 x 5) + (3 x 5)

100    +    15 = 115



Q.3 Use the information from the bar and tally chart to answer these questions.

20

20

10 because 30 - 20 = 10

I disagree with Alex because 
110 attend the club 110>100 
so she is incorrect.



Netball Football Tennis Rugby
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1 =_____

2 =_____

3 =_____

4 =_____

Netball

Football

Tennis

Rugby


